CERVENY KOSTELEC

28.67

33.65

19.39

19|

KAT.OZEM.

VZDALENOST SACHET

CERVENY KOSTELEC

54.78

38.77

17.49 |

KAT.UZEM.

VZDALENOST SACHET

CERVENY KOSTELEC

38.14

34.7

42.31

58.04

KAT.OZEM.

VZDALENOST SACHET

4.42]

43.63

54.09

CERVENY KOSTELEC

46.13

64.41

46.27

49.8

13.9 |

47.86

52,14

KAT.OZEM.

VZDALENOST SACHET

>
&
m mn ol| © w
S| a i
we [z [5]82]|EQ
< - MBI A=
e of HIEIGIRAR e
n o ~ - [a] - (O]
&8
9
- .
2 3 9| £
a ol > | @&
2 a (352§ 9
IS E 2| %@
al | 2| w| Nj©O
g
>
(@]
&
2
& X
: M 2 $
- (7))
w -
AN N 7 ®)
2 4
X
,Vl O
& «
z >
|5 &
25121258 g o
a3z (2|2 e ©) | -
bls|S12]2|a X N 0
zlzlBlglz|e]l = 31 5
ElEZ2]E] > pd P74 ©)
zlolzlzlzlz ] Z xx
S|13|o|x]|9s = < o
slo|o|g|E|E]l % X
z|z|z|z|€|9 u <| =
2 X 3 O = <
> P a X O ,ﬂ
g ‘e B EE S | a
5 A e al ©
I 3 EolelE el = o
-2 5 =23 o
X | > .. o
2|2 TP |yl z =
% o nVu o l3d|>1|_ N_ 2 .. _um w
< Sol%32|3|8|E] 8 wle
Sz 5x|a|%|8lalg| 2] £ 5|2
zZ > Q o | Z
L m = o) o|lalal|l )= mv._
= : O>Jw|(o|>|0]18|a 2 Ol B
N |0 0w > >|IN|>|x]x|O =z =z =z
@ QH W|mo.w —eG8'80Y —LS0LY — 8¥' 0Ly — 29'98
- O M, Cl'C —86%°80V 19°0ly — SL'6L
. osfodiid  LUPOAOPOA DAOU S OW\ L' —LLY'80Y 8s0ly —| ¥¥SL
- oﬂo J_m 1uQ UN“ DUD w>ocﬁ O..M Rl Ao — 1R = S
D> odi _“ ow>oﬂooo>o WOM ; y¢'C —O Ly 80Y scoly —| 029 | |
” T e e el i e (T W e
- h o - ] S|o|T
e L¥'T —CSE 80 egoly — 905 S| b5|S
& wfm 164891888 m»mcﬁ 184
- - JuRpzljoudy pAoU o= S¥'C —O0L¢"80% 9,0l —| LOTF || |2
w_ﬁo%\m% 1UQD \kocow DAOU a0
BSOS TYaBENBHBA BASH . o
= ’ D I Ge'C —09¢80Y ———— 190l ¥ — Igee |2
, W W —— 9907 — :
} pMlodiyd  LUPOAOPOA DAOU—E—— _ mww| WW mmw —£90lv — Wmm_w = MWWW
.
- oxfodiyd tuppzijpUDY DAOU @C 857 —691°80% SS0lv o S8l
o
osifodiyd 1ugDZIoUDY DASY Sy’ —881'80y ———————— 85 0Ly 8L/
@) = 0S¢ —+21'80F —€9'0Lly —8S 0Ly B o L6
© L————'7 —881'88% —coor —9501% S 8! —
~
» E
£h
So E 9
[ w0
SO 2 £ 395§
. Wl - < T &
.o m xr = — m
L Wl W |
— ) [ o E
= 5 7S lEed
O (2]
L 05 5 > T - s < oSS
— X Ll @) N>y n WY x
X O pd E G O
Wy < O z I E g8
o> =z wn > 5 ~ s | 5 D
= < o) < = o ,M |l o X W
T ole) < o o o
Q NS pd o @) 3 N = v
< X X X X ) ) x o O E o =2 W
3 L EE m . Z Jz06 2
3 Vo ki 3 g P E S 83%¢%
O D == T v < ¥ a0 £ 5SS
NWM OAOUA[d W N [T77—C65°0ly —98ZLy — G877y — €0l —r=
XZ LUSP9A 1DDAQIZRS ~
on0U & TUSDAA 12DAOIIRS R
’ TUSDOA TODAO|RDS — K
D ﬁom:m Tugpz! DUDY DAOU . AR
pifodn chN__oc& BAOU o Sl
- pylodiyd  'poA "AD}S + DAOU 2 BT
oYTO tm 1UQDZI|DUDY DAOU olw|o
_ pXl0dT] EwoN__ocowﬁ dAoU ol2|=
0|~
"®|ﬂ 97’ C —19¥'80Y —C6'0lY — G80lY — L2CL
M
R M RSSRS PSR S :
- =t 8¢-¢ 56680 e ISR INT
- 9AOU — 1USPOA IDDAO|IQPS ——— [ LGS
1UQDZIDUD xmo M_u_ wv v ¢ —v1£°80F GG 0l 6L'CY S J 4 %
A . ]
) o3139H9 1135211818y BARY - 8¢ —66¢°80% 5oy —|  ee6e |©[3|Q i
JISETor=T) WOO>O_wUmT // ¢ —LLT' 80V 0S0LlYy —f ¢¥'s¢ o % -
= ; 1 Z'¢ —GSC 80V LY OlY — gL'le 0|0
= g f
B899 143B21|8483 BASY u_
- 90DZI|DUDY DUSSN. [~ 0¢'C —807'80% 0S0ly —| 9912
D ﬁom_\_m 1UQDZIIDUDY DRAOU O = 6¢°¢ —L81°80Y —8G 0Ly — G 0Ly — 6v°LL
ow.o ] chON__oco DAOU o
_ O 0v'¢ —GS1 80V 9G0l¥ o L'
&*mmx_m 1U38%1|BuB W»WEW - &
. RN : z ' —511°80% £G0LY O 19T
W pyfodiyd 'poA "ADYS + DAOU ! &[S —00180y —19°0Ly — ¢G5 0LY um o —
~
» E
N
E B
S o ~ 29
SO 2 £ 395
. Ll ) N T x
.o — (e = — O
o L Wl W~z
— — ] — % o g |
= bTS S
®)
e g z 5 — s T o=
— X Ll ®) s n YWY
XN o = H o o)
() > = 7s) > 5 ~ — s | 5 2
L e = o2 =z Lo% &
: X 90 < 2 E 8 5@ 8
Q L X X < 5 5 ® ° 0 Eo=z%
” 2 e w . Z P W £
< 3 S 3 < < = s < S99 8K
sLl o >
%) — QO O O o = T X <<
O == T X x x o o n X Z
@ 9AOU —  OA— - T 6%'C —0£0'80Y —<2S 0Ly — 8¥'0ly —  6L'SL
6v'¢ —<CL6°LOV 9¥ 0ly — c¢'89
w: m_‘_m ZI|DUD o>ocﬁ
LT N_Wo%% ocom>% i -
o
w_ ﬁoa_»_a \c opon o>oc%ﬂ j |
|=o * m;m 1U902Z1DUDY DAOU @0 . ’ o
—OALOGLIG TURDZIDUDA  DAOU - 75 —TTLLOY veoly — sy | [
oﬁomr_m 103bzilBuBy Badu H Sy’ —089°L0% croly —  e6cy | |T|o|Q
_y_ Djfodrid Tulpzijpupy DAoOU S LIS @
6¥'¢ —¥19°L0V —OL 0Ly — CO0LlYy — 6¥'8¢ 218 n_U
(o] i1 O
-8 10 i | N -
© 7 pyfodiyd  LUPOAOPOA DAOU—XK—— o |t __u’ 0¥’z —81S'LOY ze60r — vog | |N|&
fschid 13B2BLBY it //x_ | e p——— swesr = cged
_ 9AOU — QQAK— 67 ¢ —1G¢ L0V 78607 —f LS9l
“pylodijd  1UpoAOpPOA DAOU—XK—— D@ﬂj s . . .
pxlodiyd 1UQDZIDUDY DAOU X 1 8%'¢ —LYE L0 $9°80% —| €686
pylodijd Tudpzijpupy bHAOU —
pxlodiyd  LUPOAOPOA DAOU—XK——— S o
) 6¢°¢ —90L°L0¥ —O0S'60y — S¥ 607y —] 8196 wlu s
= oSen Y%’ —€90°L0Y 0560y — €806 |Z|5 |0
pylodiyd ‘poroul|d 7 §—K—— S
L¥'T —200° L0V 1r60r — 6168 |2| ol | S
_ - NS
_ @ SREE
D ﬂomi 1UQDZI|DUDY DAOU F|oo|N
ow_.ﬁo 7Jd TudpzIjpupy BAOU
_ Foxlodijd  1upoAOPOA DAOU—HK—— OC 07'¢ —938:80% LB —| 4499
oﬁom;m 1UQDZI|DUDY ©>ocﬁ
oSS LHRPAIDHN Brod S 8o —=007-80p —Bce0—1r5-80F = ¥3-78
9 0
8 \ LL'C—9G9'90y ———— 9¢'60v — 6l'¢S
T pylodiyd 1UQDZIIDUDY DAOU \ .— (07— ERY: : ] .
Siodiad 1U3BZII5UR Basu | \ §9°F —065:90% BrEgy —| 984% | |3
UV:OQLQ 1UpoAopoA DaAou V 0|9
— ~Qe . . _ : Te) A
—83i8did 1138%BUBY BASY o= 565 —08%:98% BEBer = ¥6EE | |75 |n
- _mobo _om\%_mbm V o7
-« P%l0dlid "POAOUAID T]S as :
i pylodiyd  LUPOAOPOA DAOU—K—— - ¢V Oo ) 2
- <+
- (= u/ 67'C —GEL GO gceor — gz | |7
19'¢ —8C9°G0Y £C 607 — ¢6'81
pxlodiyd  1UPOAOPOA DAOU—K——
pylodiyd 1UQDZIDUDY DAOU . . . nnuv.
= Dilodiid EooN__ocox HAou @G _ =\ 08¢ —L1E'G0Y i.mo¢%| 8G'8
~ 571(DUDY DUBSN =\ Y0¥ —G0Z'SO¥ GT60Y B S8
m% S00Z||puUDY D ocﬁ (o =———Gl'v —090'G0y —1Z'60Y — SL'60¥ .W o =
~
» E
£ [
3o 5
= (%)
SO > E 395§
. W ) < T x
.o — o = — Q
o L Wl W~
— — ] — % O € |
= b S Yo e
)
L 05 g > T - s < TasSS
— ' Ll O s b YWY x
XN O =z E G O
Nt - < = L & £ < 2 E
o> =z wn > 5 ~ s | 5 D
_u ™ 5 2 = 2z  LggE
I oX®) < [ v £ 0 o
o NS =z o @) 2 N = v
I X X X \% ) > x ° O £ oz %
3 L EE m . Z Jz06 2
< % XY XY 3 < = = S < Lot
L O Jdoa >
%) = O O O o = r ¥ <<
O ) == T X X X n O o n X =
S oxfodiyd 1UPOAOPOA = 91'c —OYg L0V — — 0501y —  ¥9°C
ov:oa_ d 1uQDZIIBUDY DAOU
ARG 142 PEHRSRK 12494
LUSPOA 1ODAO|PS —K—r 8
PR oM
- -ta $l
fal L | i
— gou - opX— O < 0|®
pxlodiyd EwON__ocox DAOU S
oxmo ;m Tudpzijpupy DAOU
pylodrj 1UpOAOPOA DAOU
— = 91'¢ —069°90Y — 1860y — 2860 — L0°68
~V “oyfodiyd  1UPOAOPOA DAOU-—— O“ i
) <
“oyfodiyd  poA ‘ADIS 4+ DAOU—XK——— - M
- o 8ls
N ) .
) Iw%mmm %m w__w%wn_ BABH S——— RE
pylodiy OAOU (o i
D *om:m\gco ADUDY DADY oo
OW_.o 12d TURDZIIDUDY BAOU
pylodiyd  poA “ADIS + o>0cT
- IUSPOA 1ODAO|D
TR e — ,,
() . = l¥'C —0G6'G0y —9L'60y — /£°607 —|  Z6HE
] = 5 A\Y =\ M| 0
=pyfodiyd  "poA "ADIS 4+ DAOU g | =
- BocuBl o\
N~
fodiyd 'poA ‘ADR)S DAOU N~ 16'C —L6C°G0Y —0Z'60vy — 81'60Y — 0G6°0¢
T e — g @
14d 1u ON_ DUDY DAOU
_ B *omgm 1038%1/5u8 o>ocﬁ m @
S | ¥
— o @ M M ©
T 90D71|0UD ° @ g <
DOAOPOA “ADYS + m>oa%ﬂ M Sl
- = _.n\Uu
N oce o3
mooN__ocoxWW
p¥fodiid 1uQDZIDUDY DAOU
w: mEm TU3DZI|DUD o>ocﬁ ;
- ov:o 14d 4 LupPGAopOA DUS -
—oylodiyd ~ Tup oK D -
ov:om_ d 102 ¥y 2 W&
pxlodiyd EwoN__ocoL DACU . . . . .
9AOU — LUBPSA TODAO) | —— g
-~ “KAOU~ DOACPDA ~
52 ?moo>>oowom 2
DV:OQCQZZU _u>9m< + DROU m
pylodiyd ‘poroul|d 7 §—K— o o
= N
=] 2
8 =
W I
[a
o
_
osfodiid 1URDZIDUDY —H—— S
I r 0Ly —689' V0¥ — — 6480V — 96°'60 |
N
poAoUA|d ]S H—o o
pylodiyd 1uQDZI|DUDY
IUSpPoA [ODAO|ZPS
pylodijd 1UQDZIDUDY —¥——— 3
(o]
pylodijd 1UQDZIDUDY —¥——— Q
e m ¥8'¢ —96S Y0¥y — — ¥¥'80Y —] 69°¢9
o
o
w N
3 S o
90DZI|DUDY —&—— -— TR
o|lN|oO
el
o3 m
Nl
ﬁr ¥8'¢C —L6Y YOy — — $¢°80%Y —| 06'¢lL
.4.|_
poroukld IS XK ——
O
ﬁr G8'¢ —L6SV0Y — — GC'80V — 06'¢9
.4.|. 3
poroukld IS XK —
™
N
To)
o
<
o
c
©
g
a ﬁ G8'¢C —L6C Y0V — — G1'80Y &5 06'¢l
Z 8 o IR
~ n =
20DZI|DUDY H—— mm B lo
S 06'c —00Z Y0¥ — — 01’807 85 ~
~
T E
E B
So -t
SO 2 E 95
N \ ) N Iz
ree) o =z o 9
Ll Wl w o |
= 5 7S lEea
X (@] — £ %]
L T c2 2338
—1xN) o ¢ X A o N m WY x
l mo— 8 ) =z T £ E 2 o o
% =5 [102 < = & o < L, BB
— - 17897 & v = = = *'2z
L a NN« < = 2 =z ~ ok
S ON®) D:OO__.D.O. < < [ %] = W c O
? X N Ny =05 z o o 3 S= 3
< ' 0 oMB® < =) ) (1 e 0O € oz
% L == SN o . Z T252
< % YA 3 =< = = s g Loxi
- sLul L ARV S 5 5 5 3B Sz
O D) == MOHA 14 T X X X o On g6 S




